o
)

e
N
ul

o
N

<3 @> (rad)

Ratio
L

< d cot(B) >

.................

.................

<op/p. > (%)

:: _9_0-2;IIII!.IIII!IIII! |||!||||!||||
i 5 2bf :— :—
E e F | ] i
2 | :-
3 0o 1 2 3 93— =2 1 o0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
— Bém: %_Uligillo(l)l:lrj’lj}
T DOMITT— 1-PU
—— DOM- 7-PU
—— DOM™T 3~ PU
: 5 B : 1HIE
e = sop- *; Y
111 - i & 6of : Lf
r ’ . w o : :
-l iRl v 40f : i
E i , 20 il g
o : E il .
SR R : of LA I
L ~20F- : i
L 4 ~40F :
Eec TR R -60F--{t-+ - -
T iR -80F- |- It
5....| ....?]. PRI L .STlOQ:""!' A AN L
| g it b1
FU b L[ 2F |- - PR - -FF -4 FFE -
= g f Y E ] H i i
F | | 1 - v Ranashivava i OF B ) ol
E i SIelHITLE i T oF ] L: vl it
3 -2 -1 0 1 2 3 -3 -2 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

pa
1 " .
1. L{: 14 w11
E A |
h -1 -Fied
I I A | ]
-4

iy

(ON R R R LR R RNl RRR R RRRRN LR RN AR R AR RARRN LRRL

-2 -1 0 1 2 3
TP n (PCA to beamline)

(k=]



	Contents
	Page 1


